Cost of delay
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[s a month of delay
worth

1 Mio € or 1k €7




Most organisations don't suffer
from a lack of innovative ideas,
they suffer from not being able to
pick and nurture the best ones,
and deliver them quickly enough.
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Black Swans: arrival is random
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UNDERSTANDING COST OF DELAY

38 WEEKS WAITiNG: > ~58MILLION

1. DECISION-MAKING 2, PRIORITIZATION 3. FOCUS

CD3: COST OF DELAY

CHEAFPER FASTER v ALUE
X e s OO0 ...

TRADE-OFFS



https://vimeo.com/joshuajarnold/costofdelay
https://vimeo.com/joshuajarnold/costofdelay
https://vimeo.com/joshuajarnold/costofdelay

The impact of time on value

(or rephrased. Impact of time on the
outcomes we hope to achieve)
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It's one thing for an organisation to be
blind to queues. It's another layer of
blindness to have no clue what those

queues are costing. We need to understand
the Cost of Delay of the things flowing
through the system.
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Cost of delay = value x urgency



What is it good for?
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Help with prioritization

especially with CD3
cost of delay divided by duration






About Value

The monetary worth of something



Having a number is better than
having no number at all, even if the
only output is to learn more about
what 1s valuable or not.
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% A framework for thinking about value

Increase
Revenue

Protect
Revenue

Increasing sales to new or existing
customers. Delighting or Disrupting
to increase market share and size

Improvements and incremental
innovation to sustain current market
share and revenue figures

Costs that we are currently incurring,
that can be reduced. More efficient,
improved margin or contribution

Improvements to sustain current
cost base. Costs we are not currently
incurring but may do in the future

Total value

Sum of value

buckets



52 Risk to value conversion

calculate the weighted
risk value by multiplying
the value of a risk x its
probability to occur

Example
A failing oracle leads to a

potential loss of 100k/week.
The probability for failing is
about 70%.

This leads to the weighted
risk of 70k/week that we
can take as value part for
our COD calculation.



P

=, About Urgency

Describes the
development of value
over a given timeframe



Weekly Value Flow
for No Delay, 10 and 20 week delays
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http://xprocess.blogspot.de/2016/04/cost-of-delay-profiles.html

For ideas with a very long-life, with peak unaffected by delay

Cumulative Net Present Value
for No Delay, 10 and 20 week delays
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Fixed day opportunity (e.g. 1st of may)
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Savings/earnings that start on a certain date (and not before)
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Cost of Delay - Example 1 | =)

RQ-9076
Improve invoice accuracy leading to:

Reduction in number of customers paying late, worth an
additional $4,000,000 per annum

Reduction in number of calls currently costing 5 FTEs at
$20k per FTE

Increase Revenue: $4,000,000 p.a.
Reduce Cost: $100,000 p.a.

Delaying this requirement by 1 week is worth $4.1m/52
weeks

Cost of Delay = $78,846 per week 7




Cost of Delay - Example 2 ‘ /

H

RQ-9077
Automating a process to satisfy new regulation that will be
effective from 1st Sept 2012, in order to:
Avoid the additional manual processing resource which is
estimated to cost about 20 FTEs at $20k per FTE
Avoid Cost: $400,000 p.a.
It's going to take about 13 weeks to automate, so delaying
the start by 1 week beyond the last responsible moment
of 15t June 2012 is worth $0.4m/52 weeks

Cost of Delay = $7,692 per week 7
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Medi Hi Very Hi

/Week IMeek IWeek
-

/Meek IWeek

Whenever Soon...

>

Fast and easy to
apply

Helps to differentiate
between many
options initially

Bonus

“Meh”

> Urgency
BLACK SWAN FARMING

Qualitative Cost of Delay matrix
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Let’s exercise
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Project Start Date:
Name:

Cost of Delay/Week:

Feature Dev Duration:

© Add Feature

© Clear Input

Features

N A\\\\\
11.04.2017

B

e Calculate Sequence

(™ Show Chart

CoD/Week Duration
5000
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CoD End Date CoD/Duration
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https://github.com/sradics/cod/releases/tag/v0.1.1
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Project Start Date:
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Cost of Delay/Week:
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Name:
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How to measure
anything

A short book teaser?
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http://www.howtomeasureanything.com

Often, an important decision requires
better knowledge of the alleged intangible,
but when a [person] believes something to
be immeasurable, attempts to measure it
will not even be considered.
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The standard approach to
measurement ... is for smart people
being smart and have to invent the
method for a new measurement
themselves...
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If outcome of a decision is highly
uncertain and has significant
consequences then measurements that
reduce uncertainty have a high value

(don’t confuse the proposition that anything that can be measured with everything
should be measured)
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A universal approach to
measurement
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Measurement assumptions
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BZad Sequential vs. Parallel
@ -

And the winner 1s... ?
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Cost of Delay

5> Max parallel - 100.000€ CoD

40000

30000

20000

10000

CoD for projects - parallel processing Projekt

P1
P2
P3
P4
P5
P6

Il CoD

P7

P1

P2

P3

P4

P9
P10

PS5 P6 P7 P8 P9 P10
Projekte

Dauer
10
10
10
10
10
10
10
10
10
10

10 projects, all parallel, 1000€ CoD/day, same efforts

CoD/Tag
1000
1000
1000
1000
1000
1000
1000
1000
1000
1000

CoD
10000
10000
10000
10000
10000
10000
10000
10000
10000
10000



Cost of Delay

> Min parallel - 55.000€ CoD

. . ; Projekt Dauer CoD/Tag CoD
CoD for projects - sequential processing
o P1 1 1000 1000
B CoD P2 2 1000 2000
p— P3 3 1000 3000
P4 4 1000 4000
20000 P5 5 1000 5000
P6 6 1000 6000
10000 P7 7 1000 7000
Em - . . . . l I P8 8 1000 8000
0
Pt P2 P3 P4 P5 P6 P7 P8 P9 P10 P9 9 1000 9000
Projekte P10 10 1000 10000

10 projects, all sequential, 1000€ CoD/day, same efforts



Cost of Delay

> Max parallel - 133.000€ CoD

40000
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10000

CoD for projects - parallel processing (
CoD different)
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P2

P3

P4

Projekt
P1
P2
P3
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P5
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P7
P8

PS P6 P7 P8 P9 P10 P9

Il CoD

Projekte P10

10 projects, all parallel, different CoD/project, same efforts

Dauer
10
10
10
10
10
10
10
10
10
10

CoD/Tag
4000
3000
2000
1000
1000
1000
1000
100
100
100

CoD
40000
30000
20000
10000
10000
10000
10000

1000

1000

1000



Cost of Delay

> Min parallel - 40.700€ CoD
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-l 1 0 1 1 . Pe

CoD for projects - sequential processing

(CoD different)

P1

P2
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Projekt Dauer
P1 1
I CoD P2
P3
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P5
P6
P7

P5 P6 P7 P8 PSS P10
Projekte

© | 00 N O 0|~ W DN

P9
P10

—_
o

10 projects, all sequential, different CoD/project, same efforts

CoD/Tag
4000
3000
2000
1000
1000
1000
1000
100
100
100

CoD
4000
6000
6000
4000
5000
6000
7000
800
900
1000



133.000€

For all parallel with different CoD - That’s a lot of money

40.700€

What a reduction ... if finishing project by project, starting with highest CoD

Worst case 226% more

CoD in action!

olllo



Cost of Delay

>~ Min parallel - half of people involved - 81.400€ but 20 days

Projekt Dauer CoDI/Tag CoD
CoD for projects - sequential processing ( o 5 4000 8000

~ CoD different)
40000 I CoD P2 4 3000 12000
30000 P3 6 2000 12000
P4 8 1000 8000
20000 P5 10 1000 10000
s P6 12 1000 12000
P7 14 1000 14000

0

P1T P2 P3 P4 P5 P6 P7 P8 P9 P10 P8 16 100 1600
Projekte P9 18 100 1800
P10 20 100 2000

10 projects, all sequential, different CoD/project, same efforts
but viewer half the people working on it
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http://www.ontheagilepath.net/2017/02/key-take-aways-from-the-principles-of-product-development-flow.html
http://blackswanfarming.com/
http://www.howtomeasureanything.com/
http://www.ontheagilepath.net/2017/03/cost-of-delay-and-how-to-find-the-best-sequence-for-feature-development.html
http://www.ontheagilepath.net/2017/03/cost-of-delay-a-key-metric.html

Appendix - fictitious project examples

Exercise: Place the following 10 project examples in the shown cost of delay matrix. Please
distinguish urgency and value. Discuss the distribution in your group. Every group has
one observer who shares her observations afterwards.

Project 1 - 1st of May special product

On the 1st of April we are on track with our project to offer special products for the holiday on the 1st of
may. We assume it will take 3 more weeks to complete everything. Based on the forecast from
marketing there can be 10.000 more orders on the 1st of may with this special offers. With every order
we earn on average 20€.

Project 2 - Technical debt

We accumulated technical debt while preparing for the last release. As soon as we clean it up two developers
can save 'z a day for manual maintenance each week. On average a developer earns 400€/day. The developers

estimated the cleanup to take around 4 days.



Project 3 - CRM vendor selection (1)

We need a CRM to increase sales by 100.000€/month. Vendor A costs 50.000€ and it needs 8 weeks to integrate it. It includes all
necessary functionality.

Project 4 - CRM vendor selection (2)

We need a CRM to increase sales by 100.000€/month. Vendor B costs 100.000€ and it needs 4 weeks to integrate it. It includes all
necessary functionality.

Project 5 - Penalty payments

It's the 25th of April and the new legal regulation that all offered prices have to be displayed in green is enforced by the 1st of May.
Each day we miss this requirement forces us to pay a penalty of 50€. It takes us about 4 days to fix it.

Project 6 - The growing bug

We discovered an interesting bug in a legacy part of our payment module. When the payment method “Holopay” is used it happens
that we ignore Cent payments and instead interpret it as further parts of the number. So - if the customer has to pay 10,5€, we
withdraw 105€. Currently it does not cause any harm, as it just appears when the payment method “Holopay” is used. We plan to
activate this payment in 2 months. “Holopay” will be used by around 1000 customers per day.

Developers mentioned it will take about 2 weeks to fix it.



Project 7 - The grown bug

We discovered an interesting bug in a legacy part of our payment module. When the payment method “Holopay” is used it
happens that we ignore Cent payments and instead interpret it as further parts of the number. So - if the customer has to pay
10,5€, we withdraw 105€. Currently it does not cause any harm, as it just appears when the payment method “Holopay” is used.
We plan to activate this payment in 3 weeks. “Holopay” will be used by around 1000 customers per day.

Developers mentioned it will take about 2 weeks to fix it.

Project 8 - The risky one

Our security team discovered a vulnerability that will cause a damage of 10.000€/day when detected from outside. The probability
that it will be detected by attackers is about 10%. It takes about two days to fix it.

Project 9 - Nearly done

Our project “magic horse” is about to be finished soon. After one year development time, it just will take one more month to finish it.
When finished we expect an daily additional revenue of about 100€.

Project 10 - Enter the market

We are about to finish a new product (remaining efforts are estimated to take about 4 weeks). There is not yet a comparable
product available by competitors but we know they are working on it too and are about to finish it within the next 3 months. Based
on market analysis we can earn 100€/order and we expect that about 100 customers will use it daily. All based on the assumption
that we enter the market first. If we miss that, only about 10 customers will use it daily.



